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QUESTION 1

Given the following work data set containing Treatment-Emergent Adverse Events:

subjecE asbhodsys asdecocd aEsesy
ooL NERVOUS 3TSTEH DISORDERS DIZZIINESS 1
ooL NEFRVOUS 3Y3TEN DISORDERS HEADACHE 2
ooL HENVOUER ZYETEN DISONDEDR? HEAD ACHE o
ool HNERVOUS 3¥YSTEM DISORDER3 DIZZINESS 2
ool NERVOUS 3YSTEM DISORDERS LETHARGY 3
W] BE HNERVOUS 3YSTEM DISORDERS DIZZINESS i
oo MERVOUS 5YSTEM DISCRDERS DIZZINESS 2
003 NERVOUS 3¥YSTEXN DISORDERS HEADACHE 3
Qo3 NEEVCOUS STSTEW DISCRDERS HEADACHE 3
003 NERWOUS 3YSTEW DISORDERS LETHARGY 2
(ulat] MEDWOUS S¥STEM DISORDEDRS LETHADCY 2

AESEY (Severityi: 1 = Mild, 2 = Hoderate, 3 = Savere

And & Br Seventy table:

Subject
3 (%)
NEMODE SYSTET DIDORDENGD
Mild 1 (ph
Moderate 1 (p)
Severe € (p)

In the space below, enter the numeric value of x for "Severe" events under HEADACHE.

Correct Answer: 2

QUESTION 2

A subject reports a medication started in March of 2007 but cannot recall the day number. What is the value stored in
the SDTM domain CM.CMSTDTC variable?

A. OOMAR2007
B. 2007 03

C. MAR2007
D. 2007-03

Correct Answer: D

QUESTION 3
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Given the following data set:

subijid TELC regultc dtime Bie
1 CR 0 56
2 i | FD 1 52
3 B PR 1 47
4 E CR 2 29
5 1 =1 1 39
& c sb F 21
7 C FD 2 a0
1 & CR 0 43
3 B PD 1 56

The following oulpul was generatec from PROC PRINT

Ohs subjid EEL resule de ime age
1 1 CR O 56
2 2 i FD 1 52
3 3 B FR 1 47
q q B CR 2 29
5 5 1 3D 1 39
& & C =] 3 21
T T C PD Z =l

Which program was used to prepare the data for this PROC PRINT output?
A. proc sort data=one out=two; by subjid; run;

B. proc sort data=one out=two nodupkey; by subijid; run;

C. proc sort data=one out=two nodup; by subjid; run;

D. proc sort data=one out=two nodupkey; by subjid trt; run;

Correct Answer: B

QUESTION 4

Which statement assigns the current date to the character variable CURRDT?
A. currdt="andsysdate.";

B. currdt="%sysdate.";

C. currdt="sysdate.";

D. currdt="#sysdate.";

Correct Answer: A

QUESTION 5

Which clause allows macro variable creation on a select statement in PROC SQL?
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A. INTO
B. SYMPUT
C.AS

D. %MACRO

Correct Answer: D

QUESTION 6

You want to calculate the p-value of Fisher\\'s exact test for a 3x3 table. Which option must you add to the TABLES
statement of PROC FREQ?

A. CHISQ

B. CMH

C. EXACT

D. EXPECTED

Correct Answer: C

QUESTION 7
This question will ask you to provide a missing option.

Given an existing work data set (DM), the following code is submitted:

opticna <insart option hars> :

§HMACED pre (dsan=~, versionh=) ;
%1f &dsn. *= DIARY %then %do ;
[roc print data = fdsn.
title "Print of WORK.&dsn. data sec' ;
foornorte "Version Date: Sversion.,'
Funh 2
ferd
SHENT prr :

fpre (dan=DH, wversicon=Z009-1Z-08) :
Which OPTION causes the follzwing messages to aspear in the LOG file?
<optilon name>={PRT): Beginnhinhng =xscution.
<option nama>{PRT): Parameter DSN has value DN
<pption nama>(PRT): aramster VERSION ha=s wvaluse 2003-12-08

<option name>[PRT): %IF condicion &dsn. *= DIARY i3 TRUE
<option mame>{PRT): ZInding execution.
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A. MPRINT
B. SYMBOLGEN
C. MLOGIC

D. MRECALL

Correct Answer: C

QUESTION 8

This question will ask you to provide a line of missing code. The following SAS program is submitted:

proc report data=demo :
coluwn =Zite subject LEt Bge gender raze ;
<irsert code hers>
defins subject / order ‘Subject® @
definse age / format=3. ‘Age' @
define gender / fGender®
define race 7 'Race' ;
Eun ;

The report autoul should:
= he sorted by variables SITE and then SUBJECT
= ol display the SITE vanable in the autput

In the space below, enter the statement that completes the program correctly (Case is ignored. Do not add leading or
trailing spaces to your answer.).

Correct Answer: DEFINESITE/ORDERNOPRINT

QUESTION 9

Which function would be used to determine the number of elements in an existing array?
A. dim ()

B.n()

C.sum ()

D. count ()

Correct Answer: A
QUESTION 10
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The purpose of the ADaM model is to provide a framework that:
A. enables the tabulation of the raw source data

B. enables the creation of study patient profiles

C. enables the statistical analysis of the data

D. can be used to generate the CDISC ODM

Correct Answer: C

QUESTION 11

Which statement correctly adds a label to the data set?

A. DATA two Label="Subjects having duplicate observations"; set one; run;

B. DATA two; Label="Subjects having duplicate observations"; set one; run;

C. DATA two; set one; Label dataset="Subjects having duplicate observations"; run;
D. DATA two(Label="Subjects having duplicate observations"); set one; run;

Correct Answer: D

QUESTION 12

The following SAS program is submitted:

data WORK.DIGE3TL:
array Chaerve{d} § 8 ['appendicitis','diverticulosi=s’',k ‘gastroenteritis’j;
run;

What is the value of the second variable in the data set WORK.DIGESTL?
A. diverticulosis

B. divertic

C. a missing value

D. No variables are created.

Correct Answer: B

QUESTION 13

Which statement correctly creates a SAS date variable from a character variable?
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A. sasdate = input(chardate,date9.);

B. sasdate = \\'chardate\\'d;
C. sasdate = put(chardate,date9.);
D. sasdate = date(chardate,date9.);

Correct Answer: A

QUESTION 14

Which statement correctly describes an aspect of a Phase 1l clinical trial?

A. randomized controlled multicenter trials on large patient groups

B. designed to assess the pharmacovigilance, pharmacokinetics, and pharmacodynamics of a drug
C. in vitro and in vivo experiments using wide-ranging doses of the drug

D. designed to assess how well the drug works

Correct Answer: D

QUESTION 15

This question will ask you to provide a line of missing code.

Grean the following log entry;

45 data adsl ;

46 merge dm [ in=indm)

47 dizp (in=indisp):
45 by sukjid :

49 Linsert code hers>

50 run :

HERGE IS3UE: subjid=003 indw=]l indi=p=0
NERGE ISSUE: subjid=005 indm=0 indisp=1
NOTE: There were 4 ohservations read from the data set WOBE.DH.
NOTE: There were 4 pbhservations read from the data set WORE.DISP.
NOTE: The data set WOREK.ADSL has 5 chzervations and 3 varimbles.
NOTE: DATA statement used (Total process time) :

real time 0.07 =econds

cpu time 0.01 seconds

Which line of code would produce the blue notes in the log?
A. if indm ne indisp then output \'MERGE ISSUE: \\' subjid indm indisp ;
B. if indm ne indisp then put W'\MERGE ISSUE: \\' subjid= indm= indisp=;

C. %if indm ne indisp %then %put WMERGE ISSUE: \\' subjid= indm= indisp=;
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D. if indm ne indisp then put \MERGE ISSUE: \\' _all_;

Correct Answer: B
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